Total Pages—8 C/16/B.8c./Part-1I(G}/3T(0)/Geo./2

OLD
2016

Part-II 3-Tier
GEOGRAPHY
PAPER--II
(.General)
Full Marks : 90
Time : 3 Hours

The figures in the margin indicate full marks.

Candidates are regquired to give their answers in their
own words as far as practicable.

Hlustrate the answers wherever necessary.

Group—A
Answer any two questions. 15x2
{within 600 words)

1. Elaborately explain the dichotomy betwen Determinism
and Possibilism. What is “Die Erdkunde”? 12+3-
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2. What are the characteristics of Intensive Subsisfence
Agriculture ? Name the leading rice producing countries
of the World, ‘ 12+3

3. Elaborate the trend of population growth in India since
independence mentioning its regional characteristics.
15

4. Classify town on the basis of their functions. What are
the major characteristics of Rural-Urban fringe ?
10+5

Group—B
Answer any five questions. 8x5
Any one from each number.

(within 400 words)
5. Discuss the contribution of Humbold in contemporary
Geography. ' 8
Or

Explain the essence of Behavioural school of thought in |

Geogfaphy. 8
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6. Briefly discuss the livelihood pattern of Indian Bhils.
8

Or

What are the major types of rural settlements? 8

7. What are the leading factors of international migration ?
Give suitable examples. What is transhumance? 6+2

Or

What are the basic differences of population
characteristics between under developed and developed

countries ? What is Brain-drain ? 6+2
8. Describe the cultural and economic characteristics of
Aborigins of Australia. : 8

Or

Briefly discuss the main characteristics of Mediterranean

agriculture. 8
9. Distinguish between over pupulation and under
population. . : 8
Or

Mention the recent changes in the trend of urbanization

in India. 8
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10.

11.

12,

13.

14.
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Group—C

Answer any five questions,
Any one from each number.
(within 100 words)

What do you mean by ‘mental map’?
Or
What is Pays’'?

What do you mean by Rural-Urban dichotomy ?
Or

Define area of influence of an urban centre.

What do you mean by social mobility ?
Or

Define optimum population.

Define ethnicity.
Cr

What do you mean by ‘step migration’
transhumance’?

4x5

and
2+2

Mention the major problem of urban agglomeration. 4

Or

identify the functional hierarchy of town.
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